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Q.1 faredl d @ IJugh aeH Y=k Ak Biea a1 gul HfSQI
# efed 7g & urdnl

Ans X A gd
& B.&d
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o D. ¢

Question ID : 630680179338
Status : Answered
Chosen Option: D

Q.2 ar fa=are fi g @ 9gt are ggmnfagl

Ans X A. TF T GEUANT RT HISI &adT & ST &1
o B. 3 7 glone oft Uk - gk ol §dg I 3§ =d &
< C. fadeh & o YR @ g4 €|
#< D. 7Td IR it g HeE Sa|

Question ID : 630680179336
Status : Answered
Chosen Option: B




Q.3 A= arau § 3R ug uRkyl
34 & d IR aieE R, ag @)

Ans X A. s
< B. yrag
X C. e
o D. g

Question ID : 630680179341
Status : Answered
Chosen Option: D

Q.4 fA=1 & @ vRumefe forar 2rez g1
Ans X A SfET

X B. =
< C. gf¥am
«* D. Sremarn

Question ID : 630680177121
Status : Answered
Chosen Option: D

Q.5 = are i ghf ez @ gof HifSg)
FHYSTA T ______Agl e

Ans X A. g
7< B.%ar
o C.
7< D. fRrprra

Question ID : 630680179325
Status : Answered
Chosen Option: C

Q.6 fAr=T & @ H9-9T a1 ATeehTieleh IHT Al ISIEI0T &1
Ans X A ST 3MeH! ot foherd W A @1 g

« B. IgT STHT S0+ foheTd R A W@ 81
< C. g STTeH STuT foheTd IR 3 gehT 81
25 D. g1 et arut fohera wR 3 3eT

Question ID : 630680177106
Status : Answered
Chosen Option: B




Q.7 @ - 9T ITRT AT YehTo ST UdId g1 8, TR g Tl ehiet ol §IdT &, ehTe &l Tl ?

Ans X A. ag g S geht ot
«” B. & 519 T3 e 71T, gTep Q|
/< C. dg YadT al 39 3iek fBerar
< D. Tiirsifer sreet fEdr smeht 21

Question ID : 630680179352
Status : Answered
Chosen Option: D

Q.8 A faereul & | [ a1 fa=ara sifewl
Ans X A A7 I3 & Ged g

#< B. TS @l ¥ A 81
X C. o sd R & ge vl
o D. S A1 a1d IR fA4T9 g1 eheT dTieq|

Question ID : 630680179331
Status : Answered
Chosen Option : D

Q.9 ot i 3R @ Ry 71q arera w1 wi=-41 A7 HYF B
Q&Aeh T 8 HehI2Ih i GEAehl ol g & &
Ans X A gXIeh!
72X B. Fmam
 C.

< D. U

Question ID : 630680177056
Status : Answered
Chosen Option: C

Q.10 IURI=h FeTar a1 31 fAheul 7 @ ag= fifSQ)
3SR — UoR EIAT AT -
Ans X A S gd UH &
X B.aeA A & g
#< C. iy O ATt gt ST

o D. @& ARAT

Question ID : 630680179302
Status : Answered
Chosen Option: D




Q.11 ‘o=w g’ & aref F ugh g1 o oreg @1
Ans X A FAGHR
< B. amyd
o C. e

X D

Question ID : 630680177049
Status : Answered
Chosen Option : A

diaggdAeh _____ gsT ATl
Ans X A casmar
X B. Terd
X C.w=a
o D. &Y

Q.12 IwRi=k arer | yuf fovar Yae géd 2res wai fifsg)

Question ID : 630680179328
Status : Answered
Chosen Option: D

Q.13 IWRI=h a1 § IGifhd UE &l Rk Ia15T|
% @ R &l = A @1

Ans o A TUEH hRe
75 B. HdY BhR%A
75 C. %af &R®
75 D. 0T hReh

Question ID : 630680179357
Status : Answered
Chosen Option: B

Q.14 ‘fAwmfor 21z @1 A gga AifSgl
Ans X A fauy

#< B. 3raRigur

#< C. 3fehearor

o D. R

Question ID : 630680179290
Status : Answered
Chosen Option: D




Q.15 arra & Reh we & g Iugeh fevea geens ata gquf &7

Ans

B Tl h AR RRA ITE A R g wR g
& AT

X B.wf
X C.gom
< D. amaf

Question ID : 630680177079
Status : Answered
Chosen Option : A

Q.16 IURI=h a1 § IUYTh 2AsE WANT HfAgI

Ans

__ dgasaTgEl
X A g
o B. 3o
5 C. dfusr
X D. &

Question ID : 630680179322
Status : Not Answered
Chosen Option : --

Q.17 arer o= Haieft Ffe Henem fifSgl

Ans

yuftufadt gRT 941 & guig 9 9« AfAsR o= gy « fagi
25 A, defiufaat 3 9 & aeie & 99 sifder 1o g1y o forgl

2< B. Usfiufaul = O} i geie ¥ 99 YRR U & fomm
7< C. ysfiufert gRT o4 3 hRUT e SifeRR UT &R ot |
« D. dSTafadt = i <l avig & T« SIfYHR S0+ g1 o ferg |

Question ID : 630680179311
Status : Answered
Chosen Option: D

Q.18 = ferey & e sy sifew!

Ans

X A IRUR, ST, 21fe

< B. A<y, armotehdt, eft - deft
#< C. gl g, 38R — IR

o D. 1, I, fiaR, I

Question ID : 630680179356
Status : Answered
Chosen Option: D




Q.19 g9 JF d T - A Fgraa gRa gt @ ?
A S Greft e -

Ans o A STH GG a9 a1 SR
#< B. TUR T T AdTST T o3|
X C. 38R — 3 Featare
2< D. ZgI &Y 3ife fRABR e

Question ID : 630680179308
Status : Answered
Chosen Option: C

Q.20 o=t i gfe & Ry g arer a1 HI=-4T 2AE S B
311et fareaTa SgTiepTR 0] 3t a1 e ghml

Ans X A IREHE
< B. BhgHIHR
o C.Xq
2< D. foara

Question ID : 630680177057
Status : Answered
Chosen Option : A

Comprehension:

I T T e Bt U SfR U T U & IR &

AT ST — ST FARTeT T8l & | Teh AT UR X ST oh &16 Woiad] WesTandl iR Ses@ddl §
ol ST & | Teh Afh el 81 AT Y AT &, TR STt ST i S127aT e chl TdaIdl e & 84 Ueh
UNTE oht H1eR Tl ohl Tei=idT Ag] & Yehd, STafch Teh ATHTY AR oht, STt HIeR T ST & 39 Alex
AT ThT ST - T UTeT et H IS hiSTS TE1 glelT | EHeRT ATSSTHRR TR T Y Wi &, fohg gaR
T T R USIH o G- <l W1 T8 g1 gi-T eV g8 I8 TROT &1 A1y foh 8= Td=ar & arg
T IR ol I SIS goiT &
SubQuestion No : 21
Q.21 9HY 3 WR AT hd d&ed STrdt @ ?
Ans X A TR R AR R GE @M WA F
2< B. gERi ot «ifd SR @ warey
25 C. @ arganfa ofik Frif3a gl Sitae faam &

o D. ToMERd 3R IS@adr #

Question ID : 630680179378
Status : Answered
Chosen Option: D




Q.22

Ans

Comprehension:

A g 2 ey U SR 4B T met o IR &

AT ST — STUH FRAeT 81 81 Teh HAT UR X ST oh &16 Woioidl WesTanal $iR Ieg@erdl §
& ST &1 Goh SAfh Sl & AT hl WdT &, TR STt ST hi S1aT e hl WeaIdT g1 &1 89 Teh
NI &l HIeR T chl Tl gl & Gehd, STelfeh Ueh ITATT ANTReh <hl, ST HIeR Tel=T ST & 39 Hiex
AT T STTFAT - U UT B3 H IS RISATS o1 Bicll | GHERT ATSSTUIRR TR T <hl Tei=Id &, fohg 8AR
T 9 gAR TS & TR & Tdsar 78 a1 gl T1feu| 85 g8 TRo1 Ra=1 91y {6 &R wasdn & 91y
Tk GIfAid o1 Ut ST ST &1

SubQuestion No : 22
Y 3T T ARIA hi A fAerea A & ?

X A, Tdmar gt i & ST Tendt &1 98 g ol M STUHT 35T I e Tehdl ¢ dTe SUY GO ahl g1
Tt T8t

Z5 B. TdFar W fARuer g1 S9H WesmETRdT SR Is@edl ol Hgcd a1 ST 81

o C. Wl agHed 3R W10eT ¢ | 594 fth o 3res ehiH e &l WaaIdl et § IR R hlH &
&1 TET | g5 AT i FAfeT S78{uoT I@H A1

#< D. 1 9T ST W1 UR & & | 327 i TcisIal AR Wil ol &1 GERI i amem 3 & 4
@A &l

Question ID : 630680179381
Status : Answered
Chosen Option: C

Q.23

Ans

Comprehension:

A T T ey Bt U ofR U T Ut & IR &

AT U — STUH fFRTeT T8l 81 Teh AT UR X ST oh &16 Woiaid] WesTandl $iR Ies@erdl §
ol ST &1 Teh Afh ol &1 AT hl WAT &, TR STt STSTR i S127aT e ol wdaidl Tai &1 &9 Uh
TN &l AYER T el Tci=IdT 61 & Hehdl, STelfeh Teh YT TR ahl, St HIe AT ST & S8 Hlex
TAT BT AT - U AT et H IS hiSTS el Bielt | §HeR! AeeTdien UR A <l WddT 8, fohd IR
T T AR ISI o G T W1 T8 g1 811 I1eY| g8 g TRUT I Iy foh 8% Td=ar o a1
Qeh 2T <l U ST gail 2|

SubQuestion No : 23

IWRIh Iaervl & g Iugeh i g
F A AT FI HETT
< B. & Hra=wgh
< C. 3afhs SR U fees Tcsrar # Siak
25 D. =T I ZEUINT

Question ID : 630680179382
Status : Answered
Chosen Option : A




Q.24

Ans

Comprehension:

1 g 2 ey Rl U SR U T met o IR A

AT ST — STUH FRAET 81 81 Teh HAT UR X ST oh S16 Wooidl WesTanar 3R Ie@erdl §
& ST &1 Goh SAfch Sl & AT Sl WT &, TR It ISR i STaT e hl Wl g1 &1 89 Teh
NI &l HIeR TeAT chl WA=l ATgl & Gehd, STelfch Ueh ITATT ANTReh <hl, ST HIex Tl ST & 39 Hiex
AT T STTFAT - U5 UT X H IS RISATS o1 Bicll | GHERT ATSSTUIRR TR T <hl Tei=Id &, fohg 8AR
T 9 gAR TS & TR &t Tdzar 78 a1 g1 T1fdu| 89 g8 TRo1 Ra=1 91y foh &R Tdsdn & 91y
Qe ST o1 U J3T g &l
SubQuestion No : 24
A T WRT @ =Ry ?

& A X TEFAT & 1Y IR - AR J&T BT

25 B. 8 UTTEA ot Hiex — TSt IA ol &l WIgT|

25 C. et STSTRT R T &I ST

25 D. ¥R I Tedsrar & Freeh =

Question ID : 630680179379
Status : Answered
Chosen Option : A

Q.25

Ans

Comprehension:

A g T e Bt U SR UB T e & SWR &

AT 37U — IMOH FAROeT el &1 Yok WHT UR o STH & 918 Wl WeasTanRdr 3R Seo@etdn §
& ST &1 Goh SAfch Sl & HAT hl W=l &, TR It ST Sh STET e ol =T 61 6| 89 Ueh
UNTE oht HYeR TeT= hY Taci=iaT Tgl & Tohd, STafeh Teh TTHT AR aht, St Hlex TATT ST & 39 e
TSI T ST - U UT e | 1S RfSTE Tgi gicit | gHeh! ATSSTHIRR UR T Y Tret=ra &, foh 8RR
T Y gAR TS & A &t Tdzrar 78 T8l g T1fdu| 89 g TRo1 Ra=1 913 foh &R Td=dn & a1
Tk &I ol U1 2T g &
SubQuestion No : 25
T9 37T § ‘HT9Er 21 & ) 1 - A faeia eree wahT gam &7

A TR

«" B. FRuer

5 C. 3 -

< D. OER

Question ID : 630680179380
Status : Answered
Chosen Option: B

Section : English Language

Q.1
Ans

Select the correctly spelt word.
< A. Calender

< B. Cauteous
4 C. Conscience

#< D. Collegue

Question ID : 630680179460
Status : Not Answered
Chosen Option : --




Q.2 Parts of the following sentence have been given as options. Select the option that contains

a spelling error.
As this business was to be entered into without the usual capital, it may not be easy to

conjecture where those means that will still be indispensible to every such undertaking
were to be obtained.

Ans X A.to every such undertaking were to be obtained
25 B. the usual capital, it may not be easy to conjecture
< C. As this business was to be entered into without

«# D. where those means that will still be indispensible

Question ID : 630680179466
Status : Not Answered
Chosen Option : --

Q.3 Change direct speech into reported speech.
Ruchit’s teacher said, “Don’t run too fast.”

Ans  # A Ruchit's teacher advised him not to run too fast.
7% B. Ruchit's teacher said to him not to run too fast.
#5< C. Ruchit's teacher requested him to not run too fast.

< D. Ruchit’s teacher implored him to not run too fast.

Question ID : 630680179473
Status : Not Answered
Chosen Option : --

Q.4 Select the most appropriate adjective that can substitute the underlined word in the given

sentence.
By seeking weapons of mass destruction, these regimes pose a grave and shiny danger.

Ans & A growing
#< B. national
< C. funny
25 D. tiny

Question ID : 630680177381
Status : Not Answered
Chosen Option : --

Q.5 Select the most appropriate verb that can substitute the underlined word in the given

sentence.
In the long history of the world, only a few generations has been granted the role of

defending freedom.
Ans X A. had granted

< B. was granted
< C. has granted
«# D. have been granted

Question ID : 630680177386
Status : Not Answered
Chosen Option : --




Q.6 Choose the right option that can be substituted for the phrase highlighted in the given

sentence.
Except a baby carriage, rolling chair, any traveler's vehicle, bicycle is forbidden to be parked

in or driven into the park.
Ans  # A perambulator

#< B. coach
25 C. curricle
< D. cart

Question ID : 630680179481
Status : Not Answered
Chosen Option : --

Q.7 Select the appropriate option to fill in the blank.
When my mother died in 2014, | realised how much | about her life.

Ans X A. does not know

£< B. does not knew
" C. did not know
Z< D. did not knew

Question ID : 630680179515
Status : Not Answered
Chosen Option : --

Q.8 Choose the option that completes the proverb used in the following sentence.
Junaid said that the table he made was not stable because of the wood. It is the case of a
blaming his tools.

Ans X A.inadept artisan

#< B. awkward artist
#< C. poor worker
«" D. bad workman

Question ID : 630680179457
Status : Not Answered
Chosen Option : --

Q.9 Select the most appropriate ANTONYM of the given word.
Vulnerable

Ans o A. Secure
< B. Liable
< C. Susceptible
#< D. Questionable

Question ID : 630680179445
Status : Not Answered
Chosen Option : --




Q.10 Select the most appropriate option to fill in the blanks.
Whenever the flight attendant gives the standard safety lecture, no one pays but |
stop whatever I'm doing and make myself watch. | savour the part where the attendant holds
up the oxygen mask and tells everyone, ‘If you have small children traveling with you, be

to secure your oxygen mask before assisting others’.

Ans X A. heed; lucky

25 B. anything; certain
# C. attention; sure

2% D. money; quick

Question ID : 630680179494
Status : Not Answered
Chosen Option : --

Q.11 Select the most appropriate option to fill in the blanks.
Jesse is one of the people to call when something good happens to you or to
someone you love. She is there to listen to the whole story delight. Often when you
finish talking to her, you feel even better about what has happened, luckier before.

Ans X A last; of; from

25 B. few; in; then
2 C. known; at; for
«* D. first; with; than

Question ID : 630680179495
Status : Not Answered
Chosen Option : --

Q.12 Select the most appropriate articles to fill in the blanks.
Chandigarh, common capital of Punjab and Haryana, is called

Ans X A thea
/< B.aa
" C.the; the
25 D. a; the

City Beautiful.

Question ID : 630680179509
Status : Not Answered
Chosen Option : --

Q.13 Select the appropriate option to fill in the blanks.
While many medical professionals for more attention to the brewing climate health
crisis, there are few action plans to it.

Ans o A. have called; tackle

< B. were calling; be tackled
#< C. call; have tackled
25 D. calling; tackling

Question ID : 630680179522
Status : Not Answered
Chosen Option : --




Q.14 Select the option that can be used as a one-word substitute for the underlined segment in
the given sentence.
My sister went to study the science of mind and behaviour at Harvard University.

Ans X A.anthropology
+" B. psychology
< C. genealogy
25 D. philosophy

Question ID : 630680179479
Status : Not Answered
Chosen Option : --

Q.15 Select the option that can be used as a one-word substitute for the given group of words.
A person who believes that there is a God

Ans X A. Fanatic
< B. Devout
* C. Theist
< D. Atheist

Question ID : 630680179477
Status : Not Answered
Chosen Option : --

Q.16 Select the most appropriate synonym of the given word.
Contemptuous

Ans X A. Argumentative
«" B. Disdainful
2< C. Epigrammatic
< D. Modern

Question ID : 630680179448
Status : Not Answered
Chosen Option : --

Q.17 Select the most appropriate meaning of the underlined idiom.
Mr. Kundra had his heart in his boots as he thought about the long and difficult week ahead
at work.

Ans X A. Felt enthusiastic

#5 B. Prepared to be busy
" C. Felt sad and despondent

#< D. Planned in advance

Question ID : 630680179452
Status : Not Answered
Chosen Option : --




Q.18 Select the most appropriate option that conveys the meaning of the words in the brackets to
fill in the blanks.

He (to plan a difficult activity in detail and make certain that it happens successfully)
a (not thinking or worrying about any pain caused to others) suppression of all
opposition.

Ans X A. crafted; systematic
25 B. crafted; watertight
< C. drafted; systematic

«# D. masterminded; ruthless

Question ID : 630680177370
Status : Not Answered
Chosen Option : --

Q.19 Select the most appropriate articles to fill in the blanks. In case no article is needed, select
'No article required'.

affluent have an implicit responsibility to take care of poor.

Ans X A. The; no article required
25 B. A; the
" C. The; the

2% D. No article required; no article required

Question ID : 630680179507
Status : Not Answered
Chosen Option : --

Q.20 Select the most appropriate option that can substitute the underlined segment in the given
sentence to make the sentence grammatically correct.
Nothing much is known about Durgawati’s childhood and adolescence, and even historical
fiction accounts start with the story to her teenage romance.

Ans X A. began starting with the story on
< B. begun from the story of
< C. begins through the story from
«" D. begin the story with

Question ID : 630680179488
Status : Not Answered
Chosen Option : --




Q.21
Ans

Comprehension:

Read the given passage and answer the questions that follow.

Tharoor systematically goes over the history of British rule in India and the adverse effects of
colonialism on Indian industry and economy. He addresses each of the pro-colonial
arguments-for example, that British rule brought about law and order to a nation that was
ruled by debauched and/or brutal native rulers, that the Britishers actually ushered India into
the modern age by building a superb rail and road network, that they put an end to heinous
practices such as Sati and other sundry arguments that claim that British rule did quite a lot
of good on the way to doing harm. He debunks each of these arguments.

When a child learns history in school, often it is a highly biased as well as highly abridged
version. Yes, we all read about British Raj and the Indian freedom struggle. But history was not
taught with a spirit of enquiry. We were never asked to argue both sides of a question. Or to
think objectively about the effects of policies and actions, such as war and colonisation, upon
the populations of the world.

An Era of Darkness serves as a brief guide to the entire history of British rule in India. At the
same time, it gives precise information as to how the British Raj crippled India economically.
Does this still affect India’s current standing as an independent nation, and if so, how? And is
reparation possible? These are some questions that the reader can ponder upon as s/he
reads the book.

SubQuestion No : 21

Which of the following words can replace the word ‘reparation’ in the passage?
25 A. Sympathy
#< B. Vindication
< C. Revenge

«" D. Compensation

Question ID : 630680179534
Status : Not Answered
Chosen Option : --

Comprehension:

Read the given passage and answer the questions that follow.

Tharoor systematically goes over the history of British rule in India and the adverse effects of
colonialism on Indian industry and economy. He addresses each of the pro-colonial
arguments-for example, that British rule brought about law and order to a nation that was
ruled by debauched and/or brutal native rulers, that the Britishers actually ushered India into
the modern age by building a superb rail and road network, that they put an end to heinous
practices such as Sati and other sundry arguments that claim that British rule did quite a lot
of good on the way to doing harm. He debunks each of these arguments.

When a child learns history in school, often it is a highly biased as well as highly abridged
version. Yes, we all read about British Raj and the Indian freedom struggle. But history was not
taught with a spirit of enquiry. We were never asked to argue both sides of a question. Or to
think objectively about the effects of policies and actions, such as war and colonisation, upon
the populations of the world.

An Era of Darkness serves as a brief guide to the entire history of British rule in India. At the
same time, it gives precise information as to how the British Raj crippled India economically.
Does this still affect India’s current standing as an independent nation, and if so, how? And is
reparation possible? These are some questions that the reader can ponder upon as s/he
reads the book.

SubQuestion No : 22

Q.22 Which of the following CANNOT be inferred from this passage?

Ans

< A. The British rule did India more harm than good.
4" B. There was an improvement in the Indian economic condition due to the British.
#< C. The British helped in abolishing certain social practices.

< D. Some developmental changes were brought about by the British in India.

Question ID : 630680179533
Status : Not Answered
Chosen Option : --




Q.23
Ans

Comprehension:

Read the given passage and answer the questions that follow.

Tharoor systematically goes over the history of British rule in India and the adverse effects of
colonialism on Indian industry and economy. He addresses each of the pro-colonial
arguments-for example, that British rule brought about law and order to a nation that was
ruled by debauched and/or brutal native rulers, that the Britishers actually ushered India into
the modern age by building a superb rail and road network, that they put an end to heinous
practices such as Sati and other sundry arguments that claim that British rule did quite a lot
of good on the way to doing harm. He debunks each of these arguments.

When a child learns history in school, often it is a highly biased as well as highly abridged
version. Yes, we all read about British Raj and the Indian freedom struggle. But history was not
taught with a spirit of enquiry. We were never asked to argue both sides of a question. Or to
think objectively about the effects of policies and actions, such as war and colonisation, upon
the populations of the world.

An Era of Darkness serves as a brief guide to the entire history of British rule in India. At the
same time, it gives precise information as to how the British Raj crippled India economically.
Does this still affect India’s current standing as an independent nation, and if so, how? And is
reparation possible? These are some questions that the reader can ponder upon as s/he
reads the book.

SubQuestion No : 23
What is the central theme of this passage?
25 A. History is not always correctly depicted in India.

2% B. An Era of Darkness leaves us with many questions.
25 C. No matter how much good is done by someone, one evil act spoils everything.

«" D. Tharoor’s book gives a perfect overview of the British rule in India.

Question ID : 630680179530
Status : Not Answered
Chosen Option : --

Q.24
Ans

Comprehension:

Read the given passage and answer the questions that follow.

Tharoor systematically goes over the history of British rule in India and the adverse effects of
colonialism on Indian industry and economy. He addresses each of the pro-colonial
arguments-for example, that British rule brought about law and order to a nation that was
ruled by debauched and/or brutal native rulers, that the Britishers actually ushered India into
the modern age by building a superb rail and road network, that they put an end to heinous
practices such as Sati and other sundry arguments that claim that British rule did quite a lot
of good on the way to doing harm. He debunks each of these arguments.

When a child learns history in school, often it is a highly biased as well as highly abridged
version. Yes, we all read about British Raj and the Indian freedom struggle. But history was not
taught with a spirit of enquiry. We were never asked to argue both sides of a question. Or to
think objectively about the effects of policies and actions, such as war and colonisation, upon
the populations of the world.

An Era of Darkness serves as a brief guide to the entire history of British rule in India. At the
same time, it gives precise information as to how the British Raj crippled India economically.
Does this still affect India’s current standing as an independent nation, and if so, how? And is
reparation possible? These are some questions that the reader can ponder upon as s/he
reads the book.

SubQuestion No : 24
Which of the following summarizes the passage in one line?

25 A.ltis a detail of how Tharoor feels about British rule and its impact on India.

4" B. The passage briefly describes how Tharoor’s book appropriately gives an overview of
British rule in India.

< C. The passage is about India’s economy at the time of the British rule.

25 D. It is about a debate Tharoor is having with himself about the good done by the British
vs. the harm

Question ID : 630680179532
Status : Not Answered
Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

Tharoor systematically goes over the history of British rule in India and the adverse effects of
colonialism on Indian industry and economy. He addresses each of the pro-colonial
arguments-for example, that British rule brought about law and order to a nation that was
ruled by debauched and/or brutal native rulers, that the Britishers actually ushered India into
the modern age by building a superb rail and road network, that they put an end to heinous
practices such as Sati and other sundry arguments that claim that British rule did quite a lot
of good on the way to doing harm. He debunks each of these arguments.

When a child learns history in school, often it is a highly biased as well as highly abridged
version. Yes, we all read about British Raj and the Indian freedom struggle. But history was not
taught with a spirit of enquiry. We were never asked to argue both sides of a question. Or to
think objectively about the effects of policies and actions, such as war and colonisation, upon
the populations of the world.

An Era of Darkness serves as a brief guide to the entire history of British rule in India. At the
same time, it gives precise information as to how the British Raj crippled India economically.
Does this still affect India’s current standing as an independent nation, and if so, how? And is
reparation possible? These are some questions that the reader can ponder upon as s/he
reads the book.

SubQuestion No : 25
Q.25 Which of the following is NOT mentioned in the passage?
Ans X A. British rule negatively impacted India.

< B. Tharoor is a systematic author who addresses all arguments one by one.
" C. India was a much richer country before the Britishers came to India.

25 D. An era of Darkness is an informative book

Question ID : 630680179531
Status : Not Answered
Chosen Option : --

Section : General/Aptitude

Q.1 1722 % a9 & YR & wu # fra FAges fvar man on, [S9=t g O 3rea i wra=n i of, sit
el 9THTSY & e | IR & oI srcafdes Agerygof u1?

Ans & A SEIH-3-Heh H3flad W
X B. Srefladt @™
X C. 7t gt @
5 D. F9TH-3d-Heeh STItheIg

Question ID : 630680179663
Status : Answered
Chosen Option: B

Q.2 YR WHR & AGTUSIIS 3R STHTUFT IR o HATE - Fh JEATAA] & deard e & e
SO ST PR i et T fhae 87

Ans X A 63
2 B.49
o C.34

< D.43

Question ID : 630680179708
Status : Answered
Chosen Option: D




Q.3 e Aefiag Mea T e, WRaTeaH fh wog & Hafda &2
Ans X A A

< B. A UR

o C. afferrg

25 D. siiyr mer

Question ID : 630680179677
Status : Answered
Chosen Option: C

Q.4 USE A 9k (PNB) & TR # fA=fafaa d @ &9 a1 sy agt &2
Ans ¢ A PNB ¥ @raT @i+ dTel Uget Afh ATl ATSTad I o

X B. ugat fAe=res Heat B Y e A A1
#< C. PNB &1 ®a191T 12 37l 1895 &l g3 ot
< D.PNB 7 19 I3 1897 oht 3707 &IdTS! ST & foig @it oy &1

Question ID : 630680177487
Status : Answered
Chosen Option: C

Q.5 WRd 9YEHR T = fEar @ Afger weeror sifdfam, & gurdt gem am
Ans X A.2004

< B.2005

« C. 2006

7 D. 2007

Question ID : 630680179668
Status : Answered
Chosen Option: C

Q.6 2022 ®, fAfar %e gieET (Nirbhaya Fund Scheme) & Agd, TTdSii-ieh GSeh URRdag ZRT =T
& arelt wfgereil HY TRem ok TWRen Fer & g, Fefafaa 7 9 ffa e Raa Hr
ufgtern st siffes Aaret & favmT, s smera g srgwifea &t ok mam ur?

Ans o A TR EETE AR
< B. 3178 TRRT TRBR
X C. IR AR fRerg e
#< D. TR U2 ISy Heh URag

Question ID : 630680177437
Status : Answered
Chosen Option: D




Q.7 aiewin urselt A e af geragia & ITy-a1y -8/ | IcafSia e ¢ @t (R sra =gfest gt
ST ) & erfad Y 9t wufasgamoft &Y <7

Ans o A 1937
X B.1942
2< C.1937
< D.1926

Question ID : 630680177511
Status : Not Answered
Chosen Option : --

Q.8 ¥Ra # g (2022) ufa aafes anfoies urafes Swif @ua et 82
Ans X A.550kgoe/ a¥

< B. 150 kgoe/ ¥

#< C. 450 kgoe/ a9

«# D. 350 kgoe/ad

Question ID : 630680179712
Status : Not Answered
Chosen Option : --

Q.9 gswn el d Frafaf@a & @ forg siq Y =i (bones) =& uré € <ft?
Ans X A masfh

< B. gAY
o C.R
& D.%g

Question ID : 630680179674
Status : Answered
Chosen Option: C

Q.10 Swrkfedfia FarT siaaryg 8= Ffafaa § 9 frg wog 9 defda g2
Ans X A. fumeer mear

25 B. IS

X C. doma

L I

Question ID : 630680179704
Status : Answered
Chosen Option : A




Q.11 ‘&Y am= (Salt March)’ %= @+t 9 uget wisht Sft = F=fafEa & @ e arerm &t oifw gaen
& ofi?

Ans X A. <@g dfET (Lord Reading)
& B. @€ M= (Lord Irwin)
X C. @rd fafele (Lord Willingdon)
/< D. @if 9=mIE (Lord Chelmsford)

Question ID : 630680179670
Status : Answered
Chosen Option : B

Q.12 %21 § AT 31T%h hl T TST IdTGeh, HIHIGT 3R Ef3ar faf@ds (MOIL) o Ieuret & Tt
fore ufaere a1 ahrer 3ar &2

Ans X A 54%
X B.60%
X C.24%
o D.45%

Question ID : 630680179702
Status : Not Answered
Chosen Option : --

Q.13 fFA=fafEa d @ w9 =l Fgieal f oferar d s dar @2
Ans o A Tt ARIREE sEUTe SR gEaHst 8 WRd S e =i

75 B. Fhael WRd o IsTUTe SR 7% =ranefier
75 C. Shael R & g =maefter
75 D. thaet WRa i wfHuRYE 8z Fregesh

Question ID : 630680179734
Status : Answered
Chosen Option: C

Q.14 9Rd &1 29 Rer, 2022 @ forg 221 & Gry 3nffes GgalT SR emuR Gaeitar Ar) gt T 82
Ans X A =giidis

« B. sirefoan

< C. &wATEm

X D. smfa

Question ID : 630680179691
Status : Answered
Chosen Option: B




Q.15 R 2022 #, fora wRda el S ol gra-wges A8 gogder sarsd (USA) &

Ans

gwTiaa foRar mar ar?
X A Sdemgd-feeeht
X B. sTEamEd-wgh!
o C. STESTS-Aa™
25 D. ermgensd-Has

Question ID : 630680179644
Status : Not Answered
Chosen Option : --

Q.16 STP W, Uah 3imesf A9 a1 Aok imada+ ar smesf A4l o1 daie= glar gl

Ans

X A.245Lmol™’
& B.22.4 L mol™’
2 C.27.7mol™

7 D.26.6 L mol™"

Question ID : 630680179725
Status : Not Answered
Chosen Option : --

Q.17 et 2023 #, fA=faf@a A @ faras Sem wha fRerraa fRaror b= 'fAfQ smues fAere 2.0' &1

Ans

R forar &2

2 AT "

«” B. ¥ Ud ISR HATe1d
25 C. i w3y

25 D. &1 HArer

Question ID : 630680179656
Status : Answered
Chosen Option : A

Q.18 Gifid wwg Y nifa (tempo) &t 574 (Laya) & &0 & S1AT wi1aT & | fRgearit ifia & o7 fra=t

Ans

THER & I 87
X A1
o B.3
X cC.2
X D.4

Question ID : 630680179681
Status : Answered
Chosen Option: D




Q.19 FHR AT HUTH & SR TWeisraT gl & Aareit 3 wim iy of fos fafder eraent st et &
AR &1 TR =1 A1feq | Aidiene g afafa 3 aga ugat # srfaer fdaes &t
wiwT < ot

Ans X A 1924
2 B.1925
2 C.1957
& D.1928

Question ID : 630680179728
Status : Answered
Chosen Option : A

Q.20 SR 2023 deh U STFHRI & IGER, Fathd efian it Ralé & garfaes, w-ar der Ry o
=T ga@ T21 Sifel IR 99 T 8?

Ans X A &9
& B. 9IRd
X C. amReAr
25 D. SIU=

Question ID : 630680179646
Status : Answered
Chosen Option : B

Q.21 SiTeRt 2022 #, ShiI-H1 IS MR i Ugell gof f2fSes dfch wsa s+ mar ur?
Ans X A dfeETg

" B. 3=

< C. TSR

75 D. SR U

Question ID : 630680179694
Status : Answered
Chosen Option: B

Q.22 fwar 2022, # zfavor Ffkar & ugeht ar ‘wferss-walt' snftar & wror fanedt s f g g o
arfien & AR A Fafaf@a & @ a9-a1 Fua g T8 82

Ans o A 399 e T8l gl B
7 B.Tg Uah WIS &1
X C. g Teh lfA<h1g glar 81
25 D. Tg 37U JAThR TG TehdT &

Question ID : 630680179717
Status : Answered
Chosen Option: C




Q.23 519 @RI it I FAfEE sferal ur @ stran &, &t 3 e 82
Ans o A g TR

75 B. 313G ¥R

X C dgwr

725 D. Gnfg @R

Question ID : 630680179686
Status : Answered
Chosen Option: D

Q.24 15 WRasY, 2022 Tk UT STFRRY & TR, WRA & Hat=a ararerd d gaaH | fra- afgen
A= ararefier g2

Ans X A4
X B.1
& C.3
X D.2

Question ID : 630680179730
Status : Answered
Chosen Option: C

Q.25 3urstt gt & uget &t sitar A &ften e sfaere @+ aret Saea IEse fhe & & forg @ed &2
Ans X A TSR

< B. feeeit

#< C.iar

 D. 9B

Question ID : 630680179660
Status : Not Answered
Chosen Option : --

Section : General Intelligence

Q1 3w weg-gew fow ow §, o & &9 Rl vaR @ REAE § 3 T 3T €1 W AR WeE-gEA
FT T LI

Ans X a JEdS 1 HEI
v FEES g
Xc A : @EH
X0 g@mr : =oiE

Question ID : 630680173431
Status : Answered
Chosen Option: B




Q2 sEawEEwE P, QR S T AR U WHGR & Y% @ = UF TOE F A0S o are §, %0 98 5
T R # & AR B el &1 FEHH P, FHH S & S a1, e FOmH R AR FEEH T &
Uger HETeT foRar STeT| SRR S FeTeER @ Tifia ¥ FEREA Q S R 3R SEGH T & a9
AT fFET ST FEEA R AR & dEE GE F swmea a8 fRm ST FER R §EE &

ro fea smfsa foram Ammen?

Ans . TEAT
x B. R[AdI
xagﬂ?ﬂ?
X 0. HIHAR

Question ID : 630680177575
Status : Answered
Chosen Option : A

¥ o am e @ s 3R a9 Ry aw us @ =R S

. gIEH, HTEE B AR E

« gUAT, qET H de &
. 21, T A A T

« I, TG dr A ¥

* FIEE, gUAT A AT &

see & Rar @ s FiF g2
Ans A TS

X B HIETT

X c. guAr

XD.m

Question ID : 630680177614
Status : Answered
Chosen Option : A

Q4 v BREE FE am &, “SABOLA" #1 “TYCMMY" forar e &1 3@ s & “UGLILY” =t 33 forar
FTm?

Ans A VEMGMW
« 8. VEGMMW
x ¢ WMGMEV
# 0. VEMGWM

Question ID : 630680176427
Status : Answered
Chosen Option : A




Q.5 Fr=ffEe swr-ver g & a § aw wh el ve € el @ uis F 9iF o v m= Ak
8% I8 U O £7
(ilTli)L8KJHY8G5GATR7K2UZAWGP2M7EN3BVCXE9W2AQ(G'I"?")
(Fre- Tl HEAT T 3ok ol HET )

Ans an-E-'I’IF-I'
K8 =T
xaa-

X0 ore

Question ID : 630680173400

Status : Answered

Chosen Option : A

Q.6 = sER-mag BT ov §, Ged @ &9 B R & weEe § 3N T e ¥l 59 e -
THg F T4 Fi

Ans X A CDFIM
< B QRTWA
X ¢ GHJMQ
« b AWXGI

Question ID : 630680176450

Status : Answered

Chosen Option : D




Q.7 Ru e ReFedt #F & 37 HHE F TS H S HERRE @ # e REa (?) #@ gy

Ans

FT TFAT &

L\

<

WV

o A

< B.

X D.

Question ID : 630680173435
Status : Answered
Chosen Option : A




Q.8 Rm 7w Rwedt # ¥ 37 WP & TU9 &, N FeATAAT AWeT & UsaTEE e (7) @ ularafiE
FT TFa Bl

ARG

-

Ans

dife

 D.

Question ID : 630680177634
Status : Answered
Chosen Option: D

Q9 Rl dger & o o & P w gu freeh fvw sewet & aw 7w @ § At o
T F U T E?

(@) 9765797607892456733346738421245216786543 8(EM
Ans A g

XB 8

XC 10

XD 7

Question ID : 630680177597
Status : Answered
Chosen Option: D




Q10 Ryrm Rawew amgplaat & & yoa amply &1 oo & BT @ sl wwfa w1

Ans

Question ID : 630680173441

Status : Answered

Chosen Option: C




M R w2 @ ofew sk AR BT aw s @ s Sfem
g & ©F B9 8

- o, 7eeT ® @3 © Afea Ts oraer @3 &8 8

« STE, & ¥ g3 ¢ Al FAR ¥ O

- TR, fasw & T3 & oo wew am ad §

THE # T9¥ g1 BT &7

Ans oy TmRer
X B &dl

o C. 3]
XD =T

Question ID : 630680177583
Status : Answered
Chosen Option: C

Q.12 Ru =w Rwedt # ¥ 39 g # TG N, F HEATGIET @ & o REd (?) W SiowmE w7

HehaT I
UH93, RL87, OP79, LT69,?

Ans A IX57
X B. Y56
X c JY59
<D JW5ES

Question ID : 630680176444
Status : Answered
Chosen Option : A

Q.13 faw ov feredt & & 30 95 F TAT N, A HEAGET H@eT H T =g (?) H Aawig =
TF 2
25K, 258, 30L, 40R, 55M, 75Q, 100N, ?

ans A 130P
KB 1251
X 130M
0. 1250

Question ID : 630680173392
Status : Answered
Chosen Option : A




Q14 FF & 7% awpla § 7 9fa=dr 39 &, 50 § 9% T=a @w g a1v fawat & gafEr €1

T o Rt & Rfies OeE B P ¥V G F 3R ga RiEas R o 1w a
qfeT 3 Fua G ¥ S T GESE F AT TS Hifew

FiT T 3T aftiT 3 B S #r gu § afde e &+ g

~ K i

Ans

IEEICE
ki

Ans 5 A T

X8 P

xcu

« 0. Q

Question ID : 630680176406
Status : Answered
Chosen Option: D

Q.15

ezt &1 v 9feg A, v a¢ & 249 R W ¥ 253 T W g 99d H FA Ghael O £7
X A 46
B 48
< C 49
XD 47

Question ID : 630680176397
Status : Answered
Chosen Option: B

Ans

Question ID : 630680176437
Status : Answered
Chosen Option: C




Q.17 o= et segeen, o, . Sog ¥R afR & 1F & T9R # gEE §| TR & g, aee @
AT IOnTHT-@HE Naea NN g T e m TRF & & WRa & gow, Soa Hrga & 6
m 39 # &, S Afew & ger & s A o ¥ swgEen & g, aw B g F 6 m IR A
AT AR segeen H g & d & gl e ¥

Ans A8 m
XB 6 m
XC 12 m
XD 10 m

Question ID : 630680177607
Status : Answered
Chosen Option : A

Q.18 =g wam &, A Rw 1w e 3 37%F =g & 2 oaf F HAAN, HEW Fe F IUET FF FEA/TSF
T

%Iwm(mmaﬁ%#aﬁm“wmgﬂ)ﬂﬁmﬁ

HTTFT 3T B "
Hw (2 |4 |7 |6 |5 |9 |8|3
T A K |= |- |% |+ |«]|L
o
1.7

As XKAMKL++=A%=M
“BEQKL+=+A%=Q
“cQ=%A++LKAQ
vOM=%A++LKM

Question ID : 630680176431
Status : Answered
Chosen Option: D

Q19 # B¥ A B C D EF LG 3R H T ofF & Bea 0er & 3¢ & 3 ¥#ffge g 35 &
- A 31 3w e W ¥
+C, AT T H AW T W AT
«c 3t 6 F Iw Ew e ==fFE
+ B E & dW ¥ g T W d°r & A Ofe & S fe 3
+ D ¥ H F §i7 35 o= BT IS §)
*F, H& am & g@y TUe W der &

C & 0 ¥ 99 TE o HiE der &

Ans > A H
XB A
+C 1
XD G

Question ID : 630680177569
Status : Answered
Chosen Option : A




wmﬁﬁaﬁmaﬁrmm%:r;t%\ D3l E & &= A ¥
A ?

Question ID : 630680176394
Status : Answered
Chosen Option: C

Q.21 mﬁmﬁﬁ?mmﬂmmmmmﬁmﬂﬁ?ﬂmﬂmm
Hehal gl
225 256, 289, 324, 361, ?

Ans X A 390
¥ 5 400
X c. 410
X0 378

Question ID : 630680176470
Status : Answered
Chosen Option : B

Q.22 %@n‘gﬁﬁﬁﬁ#ﬁﬁ@ﬁmﬂﬁﬁﬁﬁmﬁﬁﬁ@mﬁmaﬁ?ﬂ(ﬂﬂﬁ@ﬁﬁw
Hehdr gl
2, 6, 8, 14, 22, 36, ?

Ans XA G5B
X B 60
« C 58
XD B2

Question ID : 630680176475
Status : Not Answered
Chosen Option : --

Q.23 ooy Regl F TE B & T Fi, S FAE T ¥« g F afawnity & e § o fw
I THEOT B T R T E

437 = 19 = 67 = 37 * 13 = 391

Ans XA +, +, =, ox, =
XB _J'+? =J +l' x
fC +f +l =l x! -
XD x]‘ _l +l _? =

Question ID : 630680177657
Status : Answered
Chosen Option: C




Q.24 '+ @k < P AT VR E et F o % @ ot v} A saEe & S o s
w2

Ans XA 30xB8+5-2+7=20
XB30+6x5+2-7=20
sC30-6+5x2=+7=20

XD 30+6-5+2x7=20

Question ID : 630680173463
Status : Answered
Chosen Option: C

Q25 g gdor # MN T IG@T 14T &, & & T8 I’ & vor # T w@d el e s

M

CS62L

".1892D
126 2C
~1€6SC
1209 2C

Question ID : 630680176463
Status : Answered
Chosen Option : A

Section : Quantitative Aptitude

Q.1 g sriEart & 9= BFEr 9@ &, 10% Fl o 9 A 74 sten AR ST A 10% AAT BT
O & f&am | S AT IEAEEN # Ay w6 % 52% A 9ed g0, AR 9E 1701 HAl % wgAd
T ST ATATRT AT Fr T 79 Fiem

Ans A 54,700
x< B. 55,300
v . 52,500

X 0. 53,800

Question ID : 630680179571
Status : Answered
Chosen Option: C




Q2 smr sk w@, T A e G FE A 260 R A @ W wwdr §1 w AR E, o W
et 3 F F 36 R F @ X wHdr 1 Imn, @ ¥ & I e §) A Afew & 6w
Ty e 30 I F feae e & 9T T wear §

Ans A 15 faey
V5 20 =t
xKec 22 fea
XD 25 o

Question ID : 630680179604
Status : Not Answered
Chosen Option : --

Q3 Grafafaa aifee 9% 2022-23 7 fdr Fefseaew & Wffes wds Teuwe & 99 9= e
Fremfiat $r g o b
Ao T AR 7 Rt qur oifta i fee 7 RemfEt &1 sque 719 St

UTSTEHA Rrenfdat & =
3 354
Cic 286
e 546
aifoT=a 964
FAreATerRr 220
Ans XA 34 : 25
B 37 : 26
xc 39 : 22
XD 43 : 31

Question ID : 630680179612
Status : Answered
Chosen Option: B

Q4 20% ge & ¥ 1€ ofr, Tl ST F 8% F o @ ¥) W & v gE 40,50 ¥, & w7 T (2
#) 7 e

Ans X A 162
v 8 150
< ¢ 180
X0 135

Question ID : 630680179579
Status : Answered
Chosen Option: B




Q5 gfrgr =ogv =277 gk L +i+i=§%,a‘rza;rm;rmﬂﬁm

6y 9z

Ans

X A

X B.

wmlw wlw

Question ID : 630680179620
Status : Not Answered
Chosen Option : --

Q.6 v waEREE R A, AR A g F A vF g AR UF FEAS e AT 6 11§ AR
SHEHT TIAM 46 cm g1 TS FT 9T ahe (cm? #) Rhae g2

Ans X A 57
X B 49
¥ C 53
XD 64

Question ID : 630680178032
Status : Answered
Chosen Option: D

Q7 foft TR Hera F1 &G 4489 m2 &, Hal F IRAT (cm FH) 7S Hew
Ans A 268

< B 284

< C 2380

XD 272

Question ID : 630680179550
Status : Answered
Chosen Option : A
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Question ID : 630680179616
Status : Answered
Chosen Option: C

Q.9 21 em BT F AR Rea & fea =1 v =uws Fer F 8, e # osor 1200 ) oy
e F Seugs F gHa 9% F1 U AR Fear AT Fer g, & 7T e 7 oemw (em #) 4w

Ans

grem?

XA 73
VB 1443
Xc 12v3
X0 1643

Question ID : 630680178038
Status : Not Answered
Chosen Option : --




Q.10 =z ==f¥m, A, B, C 3K D, 6 km =aT$ I JeaThR &% W alea IF FL & 3760 T FAA: 3
km/h, 3.5 km/h, 4 km/h T 4.5 kmh 31 IR @ = & g @ v 9w T & fan F g o w
§ & 5= ¥ T AR wRiEE g W e § & B 7 frae wee W g

Ans XA 4
X8 12
~<C 9

D 7

Question ID : 630680179555
Status : Answered
Chosen Option: D

Q.11 gpor 379=fr T T x% &, 50 kmvh F WS F T HAT § AT AT A7 60 knvh Y T F FH AT
21 x ¥ "edt # 3w stwg T w7 FifEw

Ans 30000

A
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300
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60 —x
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X B
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Question ID : 630680179562
Status : Not Answered
Chosen Option : --




U2 Ry R o AR &, Y@ AB T T a1

¥
F4
A 2
y
X1 | - oy
- 5 i i < 5 3 L 4 3 i
W %
B
Y1
Ans XA x=217
B x+3 =20
KcCy=
Xoy+2=0

Question ID : 630680179623
Status : Answered
Chosen Option: B

Q.13 0.1667 x0.8333x0.5555
0.3333x0.6667 x0.25

Ans XA 1.2
B 14
xc 15
X013

FT AT AT HITST (STT7T) |

Question ID : 630680179554
Status : Not Answered
Chosen Option : --




Ans XA 275
X B 240
« C 350
XD 320

Q.14 gl Ppeer BT & AR, 3HH FEE W AT T §1 T 24 4thect B &7 T BT W Faw
AP 3448.35 §, & sHHT FE (m ) AT Hifew

Question ID : 630680179628
Status : Not Answered
Chosen Option : --

Ans X A 500
X 8. 400
xc 350
« D. 440

Q.15 150 km/h & =TT F =Teled ST 360 m FET U LeRTEr, RAwdig fyur & 90 kmvh Fr =Ter & Tl Amer
Zwlr YEETE 12 sec H IR woT &1 gE{Y oemdr & FEy (m #) o 2

Question ID : 630680179599
Status : Answered
Chosen Option : D

Ans A 20%
<8 25%
X C 15%
XD 18%

Q.16 s 79 & 8 kg F== == HT 32 kgﬁﬁg@mﬁmmﬁ%lmmﬂmaﬁhmm%?

Question ID : 630680177968
Status : Answered
Chosen Option : A

Ans @ A 24
X8 28
xc 20
XD 32

Q.17 H, J 3T L, 3oer-areT fRl F A e 120 RE, 0 R v e Rm A e i ol I H
gmmﬁgﬁ,mwﬁaﬁ-ﬁﬂmm%,ﬁmmg T T B F fohae o e

Question ID : 630680179607
Status : Answered
Chosen Option : A




Q18 2 Femmsit 1 sga 3 1 7 & 3K 3 AR 72 1 o wEw AT A

Ans A B4
X B 45
Xc 36
X0 27

Question ID : 630680179582
Status : Answered
Chosen Option : A

Q.19 u= Tz Hg #7 daer 5400 T a1 §1 fE ¥ Hg= F 200 kg 3RF HEAF FT F e AT
¥, & 2700 7 T & T 8w I Hge 7 Feaer kg 39 emar e

Ans X A 150
+ B 100
xc 200
X 0. 250

Question ID : 630680177986
Status : Answered
Chosen Option: B

Q.20 28,000 r TR W, x% FWF T T 2 I¥ FH THhgig AH 988.80 T x F AR AT AfrC
Ans XA 7

N

xXc 8

XD 5

Question ID : 630680179592
Status : Answered
Chosen Option: B

Q21 FE FT, 84 kmh H TT T AT A T 9T B 7o e & 3 56 km/h T =T T 9T B & 9T A
T S §1 R Fr osEa = (km/h &) 7T St

Ans X A 68.4
X 8. 68.1
¥ C 672
XD 67.6

Question ID : 630680179561
Status : Answered
Chosen Option: C




Q.22 3 #r gir =, 73% @ran?rzi T§ T TUROT ST 3862.50 §1 x T AT A HiST
Ans A 24,500

x B 23,875

xc 22,850

xDp. 3,200

Question ID : 630680179588
Status : Answered
Chosen Option : A

Q23 zfy (1,1, a), S F AT A (1,2 -3), (0,0, 1), (-1, 1, ) FaT BT T S5k &, AT a+ b
H A AT F=wl

Ans o a 2
X8 —1
xc =2
¥ D0 1

Question ID : 630680179640
Status : Answered
Chosen Option: C

Q.24 27m, 25% % =1 W FBHCH T B A A, 9 TF OF A & e ) S w5 qem & 10% F:H
T W ESEEH F A w & T AR ¥ Sww e gEw § o 354 F S5 ST ¢, A
T 3F 30% T oM FA E| T HT TET (T F) AT Hiaw

Ans 5 A 650
X8 725
< c 700

« D. 675

Question ID : 630680179575
Status : Not Answered
Chosen Option : --




Q.25 =fx F5 57 40 kmvh Fr & F FE §, @ 77 Toed T R 11 min & F g 8, 3 a0

sﬁwﬁﬂkmfhaﬁrq%gﬁr%,ﬁagﬁaarmwsminaf'rﬁqga?f’r%\uﬁrq\f’raﬂ?‘ré:
T 57 & FET TET (min &) 7T Hifaw

g
XA 9—

11

Ans

3

Question ID : 630680179595
Status : Answered
Chosen Option: C






